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Comp

tipli

np

ing pIJac

X2 = X6 =18

Qlx 2 = X 6 =180

800 x 2 = x 6 =1800
000 x 2 = x6 =18 000
0000 x2 = x 6 =180 00

00 000 x 2 = X6 =1800 000
8 000 000 x 2= X 6.=18 000 000
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Complete the multiplication patterns below, lover increasing pIJac
X2 = 16 2 X6 =18
Qlx 2= 160 30 X6 =18
800 x 2 = 1600 300 x 6 =1800
000 x 2 = 16 000 3 000 x 6 =18 000
0000 x 2 = 160 000 30 000 x 6 =180 000
00 000 x 2 = 1600 000 300 000 x 6 =1800 000
3 000 000 x 2= | 16 000 000 3 000 000 x 6 =18 000 00C
To get this, we perform normal To get this, we divide the answer by 6
ultiplication as we know

© http://mathskills4kids.com



	03.multiplication-patterns-over-increasing-place-values_uyht-01
	03.multiplication-patterns-over-increasing-place-values_uyht-02

